
Installation Instructions

INSTALLATION TIME SKILL LEVEL

3 Hours 3 - Moderately Diffi cult

TOOLS

Vehicle Application
• Jeep CJ5
1955 – 1975
Part Number: 51595Supertop®

Kit includes 2-Piece Soft Doors
www.Bestop.com - We’re here to help! Visit our web site and click on “Ask a Question”. Click here for more Jeep Accessories by Bestop.

• Jeep M-38A1
1951 – 1962
Part Number: 51595

1/8", 3/32", 
5/32" and 3/8"

7/16"

10'

www.bestop.com/index.php?a=20&o=jeep-accessories
www.bestop.com
www.bestop.com/index.php?a=2


Supertop® – Installation Instructions

Rev. H 0522 51595 pg. 2

Parts List and 
Hardware Identifi cation   1 - ytQ cirbaF poT

Quarter Window, Right Qty - 1
Quarter Window, Left Qty - 1
Rear Window Qty - 1
Door, Upper - Right Qty - 1
Door, Upper - Left Qty - 1
Door, Lower - Right Qty - 1
Door, Lower - Left Qty - 1

Bow Assembly - Right, 
Qty - 1, Part Number 
236.86

Bow Assembly - Left, Qty - 1,
Part Number 236.87

Body Hinge, Qty - 4, 
Part Number 252.15

Side Belt Rail - Left, Qty - 1, 
Part Number 231.86

Side Belt Rail - Right, Qty - 1, 
Part Number 231.84

Paddle Handle Assembly, 
Qty - 2, Part Number 245.46

Vertical Retainer 
Mount, Left, Qty - 1, 
Part Number 207.30

Vertical Retainer 
Mount, Right, Qty - 1, 
Part Number 207.29

Tailgate Retainer, Qty - 1, Part 
Number 233.44

#8 x 1/2" Pan Head Washer 
Screw - Black, Qty - 8, Part 
Number 200.48

#10 x 1/2" Pan Head Sheet 
Metal Screw, Qty - 8, Part 
Number 1.92

#10-24 Truss Head Machine  
Screw - Black, Qty - 12, Part 
Number 195.92 

5/16-18 x 1" Phillips Head Bolt, 
Qty - 18, Part Number 236.20

5/16-18 Tapping Plate, Qty - 18, 
Part Number 200.50

5/16" Black Washer, 
Qty - 18, Part Num-
ber 233.04#10-24 Locknut, Qty - 

12, Part Number 195.93 

#6 x 3/8" Sheet Metal Screw, 
Qty - 5, Part Number 9.69

Snap Stud, Qty - 5, 
Part Number 9.68

Because of Generic Packaging, extra parts may be included.

Door Striker - Left, 
Qty - 1, Part Number 
212.88

Door Striker - Right, 
Qty - 1, Part Number 
212.87

Corner Belt Rail, 
Right, Qty - 1, Part 
Number 231.88

Corner Belt Rail, 
Left, Qty - 1, Part 
Number 231.90

Front Door Strike - 
Left, Qty - 1, Part 
Number 236.62

Front Door Strike- 
Right, Qty - 1, Part 
Number 236.61



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 3

Windshield Measurement Install Rear Corner Belt Rails

Improper windshield 
adjustment will result 
in poor fi tting top and 

doors, causing looseness or undue strain on the 
top.

Before installing the top, check the windshield 
measurement. The distance from the top inside 
edge of the windshield to the top inside edge of the 
body must be 69 1/2" on both sides of the vehicle. 
Measure from 6" inside the doors.

Measurement
Detail

Top of 
windshield

Rear point of 
measurement
on body

Front

Channel

Tape Measure - Measure 
to inside of Windshield

69 1/2"

Loosen bolts in clamp 
bracket and slide 
bracket up or down 
to adjust.  You may 
have to place a shim 
between the windshield 
and the body.

CJ5 Windshield Adjustment: If 
necessary, loosen the two screws 
in the Windshield Clamps at the 
base of the windshield on each side 
of the vehicle. Adjust the windshield 
forward or back, use a shim if 
needed to position the windshield, 
and tighten the screws.

Windshield
Clamp Detail

Inside of Vehicle

Body Panel

5/16"
Washer

Rear Corner 
Belt Rail Detail 
Cross Section

When drilling in the top 
edge of the vehicle body, 
check underneath for 

wiring for the rear lights. Pull the wiring out of the 
way before drilling.

5/16" Phillips 
Head Bolts

Front

Rear Corner 
Belt Rail

5/16" Phillips 
Head Bolt

Tapping 
Plate

Rear Corner 
Belt Rail

Install the Left and Right Rear Corner Belt Rails on 
each side of the vehicle.  Notice that the Corner 
Belt Rails do not butt-up against the Side Belt Rails 
installed in Step 2, this is normal.  Use the Corner 
Belt Rails as templates to mark, center punch and 
drill three 3/8" holes in the top edge of the vehicle 
body. Install the Corner Belt Rails with three 5/16" 
Phillips Head Bolts, three 5/16" Washers and three 
5/16" Tapping Plates. Do not tighten the bolts yet.
Tapping Plate 
Detail

Tapping 
Plate

Corner
Belt Rail

5/16"  Phillips 
Head Bolt

Vehicle 
Body

5/16" Washer



Supertop® – Installation Instructions

Rev. H 0522 51595 pg. 4

There may be a small gap of +/- 1/4" 
between the Corner Belt Rails and the 
Side Belt Rails.

Install the Left and Right Side Belt Rails on each 
side of the vehicle. Use the Belt Rails as templates 
to mark, center punch and drill six 3/8" holes along 
the top edge of the body on each side of the vehicle. 
Secure the two rear holes in the rails with two 5/16" 
Phillips Head Bolts, two 5/16" Washers and two 
5/16" Tapping Plates. Do not tighten the bolts yet.

Install Side Belt Rails

When drilling in the top 
edge of the vehicle body, 
check underneath for 

wiring for the rear lights. Pull the wiring out of the 
way before drilling.

Inside of Vehicle

Body Panel

5/16" 
Washer

Side Belt Rail 
Detail Cross 
Section

5/16" Phillips 
Head Bolts

Front

Side Belt 
Rail

5/16" Phillips 
Head Bolt

Tapping 
Plate

Side Belt 
Rail

Tapping Plate 
Detail

Tapping 
Plate

Side 
Belt Rail

5/16"  Phillips 
Head Bolt

Vehicle 
Body

5/16" Washer

On non-tailgate vehicles install the Tailgate Belt 
Rail on top of the body, between the Corner Belt 
Rails. Use the Belt Rail as a template to mark, cen-
ter punch and drill a 1/8" hole at each hole location 
on the Belt Rail. Install the Belt Rail with four #8 x 
1/2" Pan Head Washer Screws. 

If the vehicle has a tailgate, disregard the Tailgate 
Belt Rail installation. Snaps will be used once the 
Top Fabric has been installed.

Tailgate 
Retainer

Body Panel

#8 x 1/2" 
Pan Head 
Screw

Inside of Vehicle

Tailgate Retainer Detail 
Cross Section

Install Tailgate Belt Rails

Tailgate Retainer

#8 x 1/2" Pan Head 
Washer Screws



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 5

Install Vertical Retainer 
Mounts

Install the Left and Right Vertical Retainer Mounts 
on each side of the vehicle, just behind the door 
openings. Place the Vertical Retainer Mounts over 
the front two holes in the Side Belt Rail with the two 
pins toward the outside of the vehicle. Secure them 
with two 5/16" Phillips Head Bolts, two 5/16" Wash-
ers and two 5/16" Tapping Plates. Do not tighten 
the bolts yet.

Front

Left Vertical 
Retainer Mount -
Pins to outside

5/16-18 x 1" Phillips Head 
Bolts and 5/16 Washers

5/16 Tapping Plates 
- under ledge

Tapping Plate 
Detail

Tapping 
Plate

Vertical 
Retainer
Mount

Side Belt 
Rail

5/16"  Phillips 
Head Bolt

5/16"  Washer

Vehicle Body

#10x24
Locknuts

Orient the Door Strikers with the raised edge toward the top and with the fl at face toward the inside of the 
vehicle. Install the Door Striker on the Vertical Retainer Mount with two #10-24 Truss Head Machine Screws 
and two #10-24 Locknuts. Once the door is installed, the Door Striker may be adjusted in or out until you 
are satisfi ed with the way the door shuts and opens. Repeat on both sides of the vehicle.

Door Strike

Outside of Vehicle

Flat Face to 
inside of vehicle Detail of Door Strike

Door Strike - Raised 
edge toward top

#10-24 Truss Head 
Machine Screws

#10-24
Locknuts

Install Door Strikers

Front Door 
Strike - Left

Flush with bottom, 
outside of frame

Front #8 x 1/2" 
Pan Head 
Washer 
Screws

Install the Left and 
Right Front Door 
Strikes on the inside 
of the windshield 
frame. Mount the 
Front Door Strike 
fl ush with the bottom, 
outside of the frame 
as shown. Use the 
Front Door Strike as 
a template to mark, 
center punch and drill 
two  1/8" holes in the 
windshield frame. 
Install the Front Door 
Strike with two #8 
x 1/2" Pan Head 
Washer Screws. 

Install Front Door Strikes



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 6

Install Bow Assembly
Lay the bow halves on top of the body with the 
holes in the Bow Mounts over the third and fourth 
holes in the Side Belt Rails.
It is important that the white packaging tape 
remain on the bow assemblies until the forward 
bolt is tightened on both sides. 
Secure the FRONT hole in the Bow Mount with a 
5/16-18 x 1" Phillips Head Bolt, a 5/16" Washer and 
a 5/16" Tapping Plate. Once the front hole is secure, 
cut the packing tape. 
Start the male end of the Top (Front) Bow into the 
female end. Push forward on the bow until the two 
sides snap together. Slide the foam pieces on the 
bow together.
Once the Bow Mounts are secure, tighten all of 
the bolts on the Belt Rails. 

Leave packing tape on Bow 
Assemblies until front holes 
of Bow Mounts are secure

Bow

Front

Side Belt Rail

Bow
Mount

Secure front hole 
fi rst - inside mount5/16-18 x 1" 

Phillips Head 
Bolt and 5/16 
Washer

5/16 Tapping Plate - 
under ledge

Tapping Plate 
Detail

Tapping 
Plate

Side
Belt Rail

5/16"  Phillips 
Head Bolt

5/16"  Washer

Vehicle 
Body

Bow
Mount

Push Bow Ends Together

Install Bow Assembly
Lift the Top (Front) Bow and start the male end 
of the Bottom (Rear) Bow into the female end. 
Push forward on the bow until the two sides snap 
together. 
Slide the Bottom (Rear) Bow up on the Top (Front) 
Bow to access the rear bolt position in the Bow 
Mount. Install and tighten the rear bolt in the Bow 
Mount on both sides of the vehicle.
Raise the Top (Front) Bow Assembly, holding the 
fl at rods in an upright position, and slip the Vertical 
Rods over the pins on the Vertical Retainer Mounts. 
Slide the Horizontal Rod Assembly toward the Front 
Door Strike. Start at the bottom of the Horizontal 
Rod Assembly and roll the Assembly up until it 
snaps into place.

Bow

Front
Side Belt 
Rail

Bow
Mount

5/16-18 x 1" 
Phillips Head 
Bolt and 5/16 
Washer

5/16 Tapping Plate - 
under ledge

Horizontal
Assembly

Front

Front Door 
Strike

Roll from bottom 
to Snap to Clip on 
Front Door Strike

Vertical Retainer - 
Slip over pins on 
Vertical Retainer 
Mount

Front

Vertical 
Retainer
Mount

Push Bow Ends Together



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 7

Install Top on Vehicle

Snap Top to Rear Bow

Secure Rear Corners

Locate the top and orient it on the vehicle. Drape 
the top over the bows and insert the plastic strip 
sewn along the front of the top into windshield 
retainer attached on the front of the windshield 
frame. Center the front of the deck on the vehicle 
so that it is an equal distance from the top of the 
windshield fl ange on both sides.

If the snaps don't appear to line up, 
push the rear bow forward to relieve 

the pressure on the bow. This will allow the snaps 
to line up more easily.

Windshield
Driver's Side of Vehicle

Make sure space between top 
fabric and windshield fl ange is 
equal on both sides 

For best possible installation, check to 
make sure that the soft top is perfectly 

centered on the vehicle.

Fabric

Windshield
Retainer

Reinforced
Front Edge

View from inside top

Snap to bow

Bow

Snap the fl aps to the six studs on the rear bow.

Rear Corner 
Retainer

Fabric

Plastic Strip

Insert the black plastic strips at rear corners of 
top into Corner Belt Rails. Slide the fabric around 
toward the rear of the vehicle and center it on the 
bolt securing the corner retainer. 



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 8

Raise the Rear Bow
Slide the Rear Bow up on the Front Bow and insert 
the small bent tab into one of the four holes in the 
Front Bow.

Rear
Bow

Front
Bow

If the top is extremely tight, slip the tab 
into the bottom hole. The top will loosen 

up after a few hours in the sun. Then the tab may 
be inserted into a higher hole position.

Insert tab 
into one 
of the four 
holes

Do not use 
this hole!!

Start top 
and rear 
zippers

Side
Curtain

Zipper under fl aps

Start top and rear zippers on side curtain 6 inches.
If necessary, release the Bow Coupler and 
slide the top around the Corner Belt Rail 

towards the window  to make it easier to start the zip-
pers on the Side Curtains.

Install Side Curtain

Start at one end of the 
strip and work along it 
to the other end.

Close
Zipper

Side Retainer

Slip the plastic strip on the bottom of the side cur-
tain into the side retainer. Close the top zipper on 
the side curtain. 

Secure Bottom of Side Curtain

Fabric



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 9

Secure Door Flaps

Secure Top to Tailgate

Vertical 
RetainerPlastic

Strip
Fabric

Close
Zipper

Insert the plastic strip sewn along the front of the 
side curtain into the  Vertical Retainer. Close the 
rear zipper on the side curtain.

Secure Front of Side Curtain

Wrap the fl ap, sewn to the top above each door, 
around the Horizontal Rod and fasten the hook and 
loop strips to each other. 

Wrap Flap around 
Horizontal Retainer

Front

On non-tailgate vehicles
Slip the plastic strip sewn to the bottom of the Rear 
Curtain into the Tailgate Retainer. Center the Rear 
Curtain. Close the side zippers. 

Rear Curtain

Plastic Strip

Plastic
Strip

Tailgate 
Retainer

Fabric
On tailgate vehicles
Locate the fl ap with fi ve snaps sewn to the bottom of the Rear 
Curtain. Lay the plastic strip in the Rear Curtain inside the 
vehicle. Snap the snap fl ap to the existing studs on the vehicle. 
If the snaps are damaged or missing, or if they need to be 
relocated, mark the snap location and mark center punch and 
drill a 3/32" hole at each location. Install each snap stud with a 
#6 x 3/8" Sheet Metal Screw.  

Snap
Stud

Tailgate 



Supertop® – Installation Instructions

Rev. H 0522 51595 pg. 10

Install Handle on Doors

Install Body Hinges
Install the Upper and Lower Body Hinges on the 
front fl ange of the door opening on each side of the 
vehicle. Start at the bottom of the windshield gasket 
and measure 5" down. Mark this location for the top 
of the Upper Body Hinge. Measure 15" down from 
the bottom of the gasket and mark the location for 
the top of the Lower Body Hinge. Use the hinges as 
templates to mark, center punch and drill two 5/32" 
holes for each hinge. Install the hinges with two #10 
Sheet Metal Screws.

5"

15"

Gasket

Lower
Body Hinge

Left Side 
Shown

Upper
Body Hinge

#10 Sheet 
Metal
Screws

Body
Hinge

Locate the pre-cut "X" in the lower door panel where 
the Paddle Handle will fi t into the mounting plate 
on the door frame. Fold the pre-cut fabric back and 
insert the Paddle Handle into the mounting plate 
so that the latch mechanism is inside of the vehicle 
and the latch bolt is toward the rear of the door. 
Start with the Paddle Handle Assembly at an angle 
to the door and rotate it into position. Align the four 
holes in the Paddle Handle Assembly with the four 
holes in the mounting plate. Match the holes in the 
Paddle Handle and the mounting plate with the four 
pre-cut holes in the fabric. Insert four #10-24 Truss 
Head Machine Screws  from the outside and secure 
them with #10-24 Locknuts. Do not tighten the 
screws until all four are in place. Use a Utility Knife 
or a Razor Blade to trim the excess fabric around 
the Paddle Handle. Repeat for both lower doors.

Door handles are only 
designed to aid in door 
closure. Door and 

handle WILL NOT support a person's weight.

Paddle Handle 
Assembly

#10-24 Truss Head 
Machine Screws and 
#10-24 Locknuts

Rear of 
Door

Paddle
Handle
Latch Bolt

Mounting
Plate

Inside of Door

Frame Integrated 
Handle



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 11

Remove the plastic caps from the Lower Door 
Hinge Pins. Hold the door straight out from the 
vehicle with the hinge pins over the body hinges. 
Lower the pins into the hinges. Make sure that the 
pins are fully inserted into the body hinges. Close 
the door and check all sides to make sure that it fi ts 
properly against the body. 

Install Doors on Vehicle

Locate the Lower Hinge Pin Adjust-
ment Plate on the Lower Door 
frame. If the Lower Door needs to 
be adjusted for a better fi t against 
the body, use a 7/16" Wrench to 
loosen the two nuts in the adjust-
ment plate. Slide the Hinge Pin 
backward or forward as necessary 
for the best fi t. Tighten the nuts.

Hinge Pin

Nuts

Hinge Pin 
Adjustment
Plate

Adjust Doors

Remove the plastic caps from the Upper Door Pins 
and install the upper door into the lower door. Start-
ing with the front pin, slip the pins into the sockets 
in the lower door. Make sure that the pins are well 
seated in the sockets. Close the door to check that 
it fi ts properly against the body. The Door Striker 
may be adjusted in or out until you are satisfi ed with 
the way the door shuts and opens. If necessary for 
proper door fit, Bend the door slightly inward. Once 
the doors close and seal properly, cut off the 
excess rubber seal at the front of the door.

Lubricating the upper door pins with 
a light weight oil will make it easier to 

install and remove the upper door.

Once the door has been installed on the 
vehicle, check the alignment between the 

latch and the Door Striker installed in Step 6. The 
Door Striker may be adjusted in or out until you are 
satisfi ed with the way the door shuts and opens. 
Repeat on both sides of the vehicle.

Install Upper Doors



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 12

When operating the vehicle without the Side 
Curtains, the Rear Curtain should be rolled up for 
proper ventilation.

Side Curtains
To remove the Side Curtains. Unzip the rear and top zippers. Release the plas-
tic strips from the retainers. 
Rear Curtain
To roll up the Rear Curtain, start at the bottom and roll it to the inside. Avoid 
wrinkles in the fabric and window. Secure it in place with the curtain straps 
inside of the top.

Open the zippers at the rear of the Side Curtains. Pull the plastic strip on the 
bottom of the Side Curtains out of the Belt Rails. Leave the rear corners of the 
top attached to the Corner Belt Rails. Unfasten the plastic strip at the front of the 
Side Curtains, releasing the Side Curtains from the Vertical Retainer. Fold the 
Side Curtains up onto the top and release the hook and loop fasteners on the 
fl aps, above the doors. Unsnap the top from the rear bow.
Release the locking tabs on the Bow Releases from the holes in the bow and 
slide the rear bow down to the Bow Mounts. Release the Horizontal Rod from 
the Windshield Bracket. Remove the Vertical Rod from the Vertical Retainer 
Mount and lay the bow assembly down on the rear of the vehicle.
Unfasten the top from the windshield and lay it down on the body. Make sure 
that the rear corners of the top are tucked under the rear bow. Fold the top in 
half from front to back and continue folding until the top is about 1 foot wide at 
the rear of the vehicle. Secure the top by clipping the Bow Tie Downs into the 
Side Belt Rails.

When operating the vehicle with the fabric top removed, it is very important that 
the supporting hardware system be disconnected from the windshield bracket 
and folded fl at to the rear of the vehicle. Wrap the elastic straps around the 
bows and insert the plastic strip into the side belt rail. Never operate the vehicle 
with the fabric removed and the hardware in the fully erected position.

Adjusting the Top

Folding the Top Down

Removal of Soft Top for Open Air Driving

Upper Door
To roll the Door Glass, start at the top and roll to the inside, avoiding wrinkles. 
Secure it with the elastic strap, close snap to the outside of the door.

Strap

Detail of Rear 
Curtain

Rear
Window

Side View

Curtain Up

Fabric

Curtain Down



Supertop® – Installation Instructions

Rev. H  0522 51595 pg. 13

Damaged Slider - 
Jaws Spread Apart 
(sometimes broken)

Normal Slider - 
Jaws Parallel

Care and Maintenance of your Bestop Product
Your Bestop product is made of the fi nest materials available. To keep it looking new and for the maximum possible wear, it will need periodic cleaning and maintenance.
Washing: The fabric should be washed often using soap, warm water and a soft bristle brush. Rinse with clear water to remove all traces of soap or use Bestop-
recommended Bestop Cleaner and Bestop Protectant.  Bestop Cleaner and Bestop Protectant are specially formulated to provide a total cleaning and protection system.  
Bestop Cleaner will not harm vehicle fi nish, is biodegradable and environmentally friendly.  Bestop Protectant protects against UV-fading, cracking and hardening.
Windows: Keep windows clean to avoid scratching. DO NOT use a brush on the windows!  Wash with a water-soaked cloth or sponge and a 
mild dishwashing detergent or use Bestop-recommended Bestop Vinyl Window Cleaner, which safely cleans and protects vinyl 
windows while helping prevent UV damage.  NEVER WIPE THE WINDOWS WHEN THEY ARE DRY. Be careful when cleaning 
snow or frost from the vinyl windows since they are easily scratched and may crack at low temperatures.  DO NOT roll the sides 
or rear window in cold weather.  The windows become stiff and will crack.
Zippers: Keeping the zipper cleaned and lubricated with a silicone lubricant will help prevent damage and keep the zippers in a smooth 
working condition. If a zipper opens behind the slider, the slider may have been spread apart. This problem can usually be repaired by using 
an ordinary pair of pliers to bring the sides back into parallel. Return slider to the end of the zipper in the normal Open position.  Squeeze 
lightly at fi rst and test the zipper. If the zipper continues to remain open squeeze more fi rmly with the pliers and try the zipper again. Repeat 
this procedure until the zipper operates correctly.
Water: Seeping through at the seams may be stopped by applying 3-M Scotchgard® on the inside of the seams. Rips in the fabric may be 
repaired with Bondex® iron on patches. Iron the patches to the Inside of the top, carefully following the Bondex® instructions.
Snaps: Keep snaps cleaned and lubricated with silicone to help prevent snaps from sticking to the studs. If a snap does become stuck to a stud, use a screwdriver and 
GENTLY pry apart to prevent permanent damage to the snap or the top fabric.



BE
ST

O
P 

W
AR

RA
NT

Y 
SU

M
M

AR
Y

Up
da

ted
 Ju

ly 
20

17

W
HA

T B
ES

TO
P W

AR
RA

NT
S 

Su
bje

ct 
to 

th
e t

erm
s a

nd
 co

nd
itio

ns
 of

 sa
le,

 in
clu

din
g a

ny
 te

rm
s a

nd
 co

nd
itio

ns
 se

t fo
rth

 by
 Be

sto
p, 

Inc
. (“

Be
sto

p”
 or

 “u
s” 

or
 “w

e”
) in

 ou
r t

he
n-c

ur
ren

t te
rm

s 
of 

sa
le 

on
 ou

r w
eb

sit
e (

co
lle

cti
ve

ly,
 th

e “
Te

rm
s”)

, B
es

top
 re

pr
es

en
ts 

an
d w

arr
an

ts 
th

at:
 th

e c
ov

ere
d p

ro
du

cts
 lis

ted
 in

 th
e “

Co
ve

red
 Pr

od
uc

ts 
an

d W
arr

an
ty 

Pe
rio

ds
” s

ec
tio

n  
(a 

“P
rod

uc
t”)

 w
ill 

su
bs

tan
tia

lly
 be

 fre
e f

rom
 de

fec
ts 

in 
m

ate
ria

ls 
an

d w
or

km
an

sh
ip 

for
 th

e s
pe

cifi
ed

 w
arr

an
ty 

pe
rio

ds
 se

t fo
rth

 in
 th

at 
se

cti
on

. 
TH

E W
AR

RA
NT

Y I
S L

IM
ITE

D 
AN

D 
CO

ND
ITI

ON
AL

    
Th

is 
wa

rra
nt

y a
pp

lie
s t

o t
he

 or
igi

na
l p

ur
ch

as
er 

of 
th

e P
rod

uc
t o

nly
. Th

e w
arr

an
ty 

is 
va

lid
 on

ly 
as

 lo
ng

 as
 th

e o
rig

ina
l re

tai
l p

ur
ch

as
er 

ow
ns

 th
e v

eh
icl

e u
po

n 
wh

ich
 th

e P
rod

uc
t is

 in
sta

lle
d. 

Th
e w

arr
an

ty 
ex

pir
es

 sh
ou

ld 
th

e P
rod

uc
t b

e r
em

ov
ed

 fro
m

 th
e o

rig
ina

l v
eh

icl
e o

r if
 th

e o
rig

ina
l v

eh
icl

e i
s t

ran
sfe

rre
d t

o a
no

th
er 

ow
ne

r. T
his

 w
arr

an
ty 

is 
no

t tr
an

sfe
rab

le 
or

 as
sig

na
ble

.  T
he

 w
arr

an
ty 

do
es

 no
t a

pp
ly 

to 
Pro

du
ct 

bo
ug

ht
 fro

m
 au

cti
on

-st
yle

 or
 pr

ice
-bi

d w
eb

sit
es

.
TH

E L
IM

ITE
D 

WA
RR

AN
TY

 AN
D 

ST
AT

ED
 RE

M
ED

IES
 AR

E S
OL

E A
ND

 EX
CL

US
IVE

 AN
D 

IN
 LI

EU
 O

F A
LL 

OT
HE

R W
AR

RA
NT

IES
 AN

D 
RE

M
ED

IES
, A

ND
 CO

M
PA

NY
 EX

PR
ES

S 
DI

SC
LA

IM
S A

LL 
IM

PL
IED

 O
R S

TA
TU

TO
RY

 O
R O

TH
ER

 W
AR

RA
NT

IES
, IN

CL
UD

IN
G W

ITH
OU

T L
IM

ITA
TIO

NS
 W

AR
RA

NT
IES

 O
F M

ER
CH

AN
TA

BI
LIT

Y, 
NO

N-
IN

FR
IN

GE
-

M
EN

T O
R F

ITN
ES

S F
OR

 A 
PA

RT
IC

UL
AR

 PU
RP

OS
E. 

IN
 N

O 
EV

EN
T W

ILL
 CO

M
PA

NY
 BE

 LI
AB

LE
 FO

R A
NY

 SP
EC

IAL
, IN

CI
DE

NT
AL

, C
ON

SE
QU

EN
TIA

L, 
PU

NI
TIV

E, 
IN

DI
RE

CT
 

OR
 EX

EM
PL

AR
Y D

AM
AG

ES
 O

F A
NY

 KI
ND

, IN
CL

UD
IN

G 
LO

ST
 PR

OF
ITS

 O
R R

EV
EN

UE
, H

OW
EV

ER
 CA

US
ED

, W
HE

TH
ER

 FO
R B

RE
AC

H 
OR

 RE
PU

DI
AT

IO
N 

OF
 CO

NT
RA

CT
, 

TO
RT

, B
RE

AC
H 

OF
 W

AR
RA

NT
Y, 

NE
GL

IG
EN

CE
, O

R O
TH

ER
W

ISE
, W

HE
TH

ER
 O

R N
OT

 CO
M

PA
NY

 W
AS

 AD
VIS

ED
 O

F T
HE

 PO
SS

IB
ILI

TY
 O

F S
UC

H 
LO

SS
 O

R D
AM

AG
ES

. 
So

m
e 

sta
te

s d
o 

no
t a

llo
w 

ex
clu

sio
n 

or
 li

m
ita

tio
n,

 so
 th

is 
m

ay
 n

ot
 ap

pl
y t

o 
yo

u.
 Th

is 
wa

rra
nt

y g
ive

s y
ou

 sp
ec

ifi
c l

eg
al

 ri
gh

ts,
 an

d 
yo

u 
m

ay
 h

av
e 

ot
he

r r
ig

ht
s w

hi
ch

 
va

ry
 fr

om
 st

at
e 

to
 st

at
e.

EX
CL

US
IO

NS
 TO

 TH
E W

AR
RA

NT
Y  

�
Th

e L
im

ite
d W

arr
an

ty 
ex

clu
de

s, 
an

d B
es

top
 is

 no
t li

ab
le 

in 
an

y w
ay

 fo
r a

ny
 w

arr
an

ty 
cla

im
s, 

da
m

ag
es

, o
r d

efe
cts

 re
lat

ed
 to

: 
•

M
isu

se
, a

bu
se

, a
cci

de
nt

s, 
va

nd
ali

sm
, n

eg
lig

en
ce

, fi
re,

 or
 im

pr
op

er 
ins

tal
lat

ion
 or

 m
od

ific
ati

on
, o

r im
pr

op
er 

or
 in

ad
eq

ua
te 

m
ain

ten
an

ce
;

•
Fa

ilu
re 

to 
co

m
ply

 w
ith

 an
y P

rod
uc

t d
oc

um
en

tat
ion

, B
es

top
 in

str
uc

tio
ns

, o
r a

pp
lic

ab
le 

law
 or

 re
gu

lat
ion

s; 
us

e i
n e

xtr
em

e c
on

dit
ion

s
•

Fo
rce

 M
aje

ur
e i

nc
lud

ing
 bu

t n
ot 

lim
ite

d t
o, 

ea
rth

qu
ak

e, 
hu

rri
ca

ne
, to

rn
ad

o, 
flo

od
ing

, o
r o

th
er 

dis
as

ter
s n

atu
ral

 or
 m

an
-m

ad
e, 

civ
il u

nr
es

t, s
tri

ke
s, 

de
cla

red
 or

 un
de

cla
red

 w
ar,

 or
 la

ck
 of

 pe
rfo

rm
an

ce
 by

, o
r d

isc
on

tin
ue

d p
ro

du
ct 

of,
 su

pp
ly 

ch
ain

 pa
rtn

ers
 w

ho
se

 pr
od

uc
ts,

 so
ftw

are
, o

pe
rat

ion
s o

r 
m

an
ag

em
en

t is
 be

yo
nd

 th
e c

on
tro

l o
f B

es
top

;
•

Da
m

ag
e r

es
ult

ing
 in

 br
ea

ka
ge

 (in
clu

din
g w

ith
ou

t li
m

ita
tio

n, 
sp

on
tan

eo
us

 br
ea

ka
ge

, a
cci

de
nt

al 
br

ea
ka

ge
 or

 br
ea

ka
ge

 by
 an

y o
th

er 
m

ea
ns

) 
of 

a P
rod

uc
t o

r a
ny

 co
m

po
ne

nt
 pa

rt;
 

•
Da

m
ag

e t
o v

iny
l w

ind
ow

s d
ue

 to
 m

isu
se

, o
r c

rac
kin

g d
ue

 to
 va

ryi
ng

 w
ea

th
er 

co
nd

itio
ns

.
YO

UR
 SO

LE
 RE

M
ED

Y
Du

rin
g t

he
 ap

pli
ca

ble
 w

arr
an

ty 
pe

rio
d, 

Be
sto

p s
ha

ll, 
at 

its
 op

tio
n, 

eit
he

r r
ep

air
 or

 re
pla

ce
 an

y P
ro

du
ct 

th
at 

it c
on

fir
m

s, 
in 

its
 di

scr
eti

on
, is

 no
n-c

om
pli

an
t w

ith
 

th
e w

arr
an

tie
s h

ere
in.

 Be
sto

p w
ill 

no
t p

ay
 fo

r la
bo

r c
ha

rg
es

 as
so

cia
ted

 w
ith

 in
sta

lla
tio

n o
r r

em
ov

al 
of 

th
e P

rod
uc

t. S
ho

uld
 a 

sp
ec

ific
 Pr

od
uc

t b
e d

isc
on

tin
ue

d, 
Be

sto
p m

ay
, a

t it
s o

pt
ion

, re
pla

ce
 th

e d
isc

on
tin

ue
d P

rod
uc

t w
ith

 a 
cu

rre
nt

 pr
od

uc
t o

r li
ke

 pr
od

uc
t. I

f B
es

top
 op

ts 
to 

rep
air

 or
 re

pla
ce

 yo
ur

 Pr
od

uc
t a

s s
et 

for
th

 
he

rei
n, 

Be
sto

p s
ha

ll u
se

 re
as

on
ab

le 
eff

or
ts 

to 
m

atc
h a

ny
 pa

tch
 or

 re
pla

ce
m

en
t to

 th
e c

olo
r a

nd
 te

xtu
re 

of 
yo

ur
 ex

ist
ing

 Pr
od

uc
t.  

Th
ere

 is
 no

 gu
ara

nt
ee

 ho
we

v-
er,

 th
at 

Be
sto

p w
ill 

be
 ab

le 
to 

m
atc

h t
he

 co
lor

 or
 te

xtu
re.

  If
 Be

sto
p i

s n
ot 

ab
le 

to 
m

atc
h t

he
 co

lor
 or

 te
xtu

re,
  it

 m
ay

 pr
ov

ide
 yo

u w
ith

 a 
bla

ck
 or

 ne
ut

ral
 co

lor
ed

 
pa

tch
 re

pla
ce

m
en

t in
 its

 di
scr

eti
on

.
Ple

as
e r

eta
in 

yo
ur

 pr
oo

f o
f p

ur
ch

as
e. 

Or
igi

na
l p

roo
f o

f p
ur

ch
as

e f
or

 th
e P

rod
uc

t m
us

t a
cco

m
pa

ny
 an

y w
arr

an
ty 

cla
im

. If
 yo

u h
av

e a
 w

arr
an

ty 
cla

im
, fi

rst
 yo

u 
m

us
t e

m
ail

 Be
sto

p C
us

tom
er 

Se
rvi

ce
 at

 cs
be

sto
p@

be
sto

p.c
om

 fo
r in

str
uc

tio
ns

.   
All

 cl
aim

s m
us

t b
e e

m
ail

ed
 to

 cs
be

sto
p@

be
sto

p.c
om

 w
ith

in 
30

 da
ys

 of
  

dis
co

ve
ry 

of 
a d

efe
cti

ve
 Pr

od
uc

t, b
ut

 in
 no

 ev
en

t la
ter

 th
an

 th
irt

y d
ay

s a
fte

r t
he

 en
d o

f th
e a

pp
lic

ab
le 

W
arr

an
ty 

Pe
rio

d (
th

e “
W

arr
an

ty 
No

tic
e P

eri
od

”).
 W

arr
an

ty 
cla

im
s m

ad
e a

fte
r t

he
 W

arr
an

ty 
No

tic
e P

eri
od

 ar
e n

ull
 an

d v
oid

 an
d B

es
top

 sh
all

 ha
ve

 no
 re

sp
on

sib
ilit

y w
ith

 re
sp

ec
t to

 su
ch

 cl
aim

s. 
TH

IS 
SE

CT
IO

N 
SE

TS
 FO

RT
H 

BE
ST

OP
’S 

SO
LE

 O
BL

IG
AT

IO
N 

& Y
OU

R S
OL

E R
EM

ED
Y W

ITH
 RE

SP
EC

T T
O 

AN
Y D

EF
EC

TS
 O

R O
TH

ER
 PR

OD
UC

T I
SS

UE
.  A

NY
 PR

OD
UC

TS
 

RE
PL

AC
ED

 U
ND

ER
 TE

RM
S O

F T
HI

S W
AR

RA
NT

Y W
ILL

 BE
 CO

VE
RE

D 
UN

DE
R T

ER
M

S &
 BA

LA
NC

E O
F T

HE
 D

UR
AT

IO
N 

OF
 TH

E O
RIG

IN
AL

 LI
M

ITE
D 

WA
RR

AN
TY

 FO
R 

SU
CH

 PR
OD

UC
T.

CO
VE

RE
D 

PR
OD

UC
TS

 AN
D 

W
AR

RA
NT

Y P
ER

IO
DS

:   
Th

e w
arr

an
ty 

tim
e p

eri
od

s a
re 

as
 fo

llo
ws

 fo
r P

rod
uc

ts 
m

an
ufa

ctu
red

 by
 Be

sto
p:

BE
ST

OP
® L

IM
ITE

D 
LIF

ET
IM

E W
AR

RA
NT

Y
Tre

kto
p®

 Pr
o T

wi
ll F

ab
ric

 To
p	

Su
nr

ide
r®

 fo
r H

ard
top

 Tw
ill 

Fa
br

ic 
To

p
Tre

kto
p®

 N
X G

lid
e T

wi
ll F

ab
ric

 To
p  

Re
pla

ce
-a-

To
p™

 Tw
ill 

Fa
br

ic 
To

p	
Tre

kto
p®

 N
X T

wi
ll F

ab
ric

 To
p	

Su
pe

rto
p®

 N
X T

wi
ll F

ab
ric

 To
p	

EZ
Fo

ld™
 So

ft T
on

ne
au

s	
Flo

or
 & 

Ca
rg

o L
ine

rs
Zip

Ra
il™

 So
ft T

on
ne

au
s	

Pe
t B

arr
ier

s
EZ

Ro
ll™

 So
ft T

on
ne

au
s

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 5

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Tre

kto
p®

 N
X G

lid
e™

 To
p (

no
n-T

wi
ll)	

Su
nr

ide
r®

 fo
r H

ard
top

 (n
on

-Tw
ill)

Re
pla

ce
-a-

To
p™

 To
p (

no
n-T

wi
ll)	

Tre
kto

p®
 N

X T
op

 (n
on

-Tw
ill)

	
Sa

ilc
lot

h R
ep

lac
e-a

-To
p™

	
Su

pe
rto

p®
 N

X T
op

 (n
on

-Tw
ill)

Tig
ert

op
™

 an
d H

alf
top

™
	

Su
pe

rto
p®

 Cla
ssi

c S
oft

 To
p		

Su
nr

ide
r®

 Co
m

ple
te 

So
ft T

op
	

Su
pe

rto
p®

 fo
r T

ru
ck

EZ
 Fo

ld 
Ha

rd
 To

nn
ea

u

BE
ST

OP
® 3

-YE
AR

/1
00

K 
M

ILE
S L

IM
ITE

D 
W

AR
RA

NT
Y

Po
we

rb
oa

rd
® &

 Po
we

rb
oa

rd
® N

X	
Tre

ks
tep

®, 
Sid

e M
ou

nt
Tre

ks
tep

®, 
Re

ar 
M

ou
nt

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 3

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Pa

ve
m

en
t E

nd
s S

pr
int

 To
p

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 2

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Tre

kto
p®

 Cl
as

sic
 So

ft T
op

Ro
ug

hR
ide

r™
 So

ft S
tor

ag
e

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 1

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
All

 ot
he

r B
es

top
® &

 Pa
ve

m
en

t E
nd

s™
 pr

od
uc

ts 
no

t s
pe

cifi
ed

 ab
ov

e.

Be
sto

p, 
Inc

.  3
33

 Ce
nt

en
nia

l P
ark

wa
y, 

Ste
. B

, L
ou

isv
ille

, C
O 

  8
00

27
Ca

ll T
oll

 Fr
ee

: 8
00

-84
5-3

56
7 

Re
v.

 C
  0

71
7




